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	1
	Find the middle proportion between 3 and 27

	2
	Find the third proportion for  6 and 12

	3
	

If b is the middle proportion between a and c , prove that :  = 

	4
	

If b is middle proportion between a and c , prove that :  = 

	5
	

If a , b , c and d are in continued proportion prove that :  = 

	6
	

If a , b , c and d are in continued proportion prove that :  = 

	7
	

If a , b , c and d are in continued proportion prove that :  = 
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	1
	Find the middle proportion between  – 2  and – 8

	2
	Find the third proportion for  3 and 6

	3
	

If b is the middle proportion between a and c , prove that :  = 

	4
	

If b is the middle proportion between a and c , prove that :  = 

	5
	

If b is the middle proportion between a and c , prove that :  = 

	6
	


If b is the middle proportion between a and c , prove that :  +  = 

	7
	

If a , b , c and d are in continued proportion prove that :  = 

	8
	

If a , b , c and d are in continued proportion prove that :  = 

	9
	

If a , b , c and d are in continued proportion prove that :  = 

	10
	


If a , b , c and d are in continued proportion prove that :  = +-1

	11
	

If  =  , prove that b is the middle proportion between a and c where ac is a positive quantity.
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image7.png
The function f where f (X) =6 X7 +2X°-4X+1isa polynomial function of
---------- degree. ' (Kafr El-Sheikh 2011)
(a) first (b) fifth (c) sixth (d) seventh




image67.png
In the opposite figure :
ABCD is a rectangle where : »e
AB=3cm. >AC=4cm.

Find: m ( £ BAC) A 3em.
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In the opposite figure :
KB_L—B—E b
AB=13cm. »
AC=15cm. »
CD=9cm.

Find in the simplest form the value of :

C=—9cm.—D

tan (£ CAD) —tan (£ BAD)

tan (£ CAD) + tan (£ BAD)
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In the opposite figure : ABCD is right-angled trapezium at C » AD//BC »
AB=5cm. sBC=7cm. sAD =4 cm.

Find : (1) sin B » then deduce m (£ B)
(2) Surface area of trapezium ABCD
(Hint draw AH | BC to cut it at H) c_ m

D 4cm. A

%





image70.png
If 3 X is an acute angle stan 3 X =1l— s find the measure of angle X .
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XYZ is aright-angled triangle at Z s XZ =2 cm. » YZ=4 cm.
Calculate the numerical value of the quantity :
cos XcosY+sinXsinY
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ABC is aright-angled triangle at C s AB =5 cm. s BC =3 cm.
Find : (1) the length AC (2)sin A »sin B stan A tan B




image73.png
ABC is aright-angled triangle at B s where AB =5 cm. s AC =13 cm.
(M Find : m (£ C)

(2) Prove that : sinAcos C+cosAsinC=1
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If : XYZ is right-angled triangle at Y s where XY =8 cm. » YZ = 15 cm.
(1) Find : tan Z
(2) Prove that : sin® X + cos?> X = 1




image75.png
ABC is right-angled triangle at C s AB = 13 cm. s BC =12 cm.
Prove that : sin Acos B+cosAsinB =1
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ABC is a right-angled triangle at B s AB =12 cm. sBC=5cm.
(MFind: m (£ C) (2) Prove that : sin Acos C+cos AsinC=1
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I6: f(X)=X+3 sthen f (=2) = -rveereeens
@9 (b)-3 ©]1 @5
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ABC is an isosceles triangle in which : AB = AC and sin 2 = % (Red Sea 2013)

Find cos B without using the calculator. 2 4

K = »

5
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In the opposite figure :
A ABC ,m (£ B) =90°

AB=3cm. yBC=4cm.

Find: sin A + sin C
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In the opposite figure :
ABC is a triangle s m (£ A) =90°
sAC=3cm. sAB =4 cm.
Find : (1) The length of BC
(2) The value of : cos C cos B —sin C sin B

4cm.

wog
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In the opposite figure :

XYZ is atriangle sm ( £Y) =90°
XY=5cm. s XZ=13 cm.

Find: sin X cos Z + cos X sinZ





image81.png
Prove that the triangle with vertices of points : A(5 s—5) »B (=1 57) and_C (15 5 15)
is a right-angled triangle at B » then calculate its area. .
(Beni Suef 2013 — El-Monofia 2014) « 120 square unit »
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In each of the following > prove that the points A > B > C and D are vertices of

a parallelogram where :
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A(-151)sB(@0,5)>C(556)andD 4 52) (Suez 2011)
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Prove that : The points A (0 »1) sB (4 55) >C (1 58)and D (-3 »4) are vertices of

a rectangle and find its diagonal length. (Souhag 2009) « 5[ 2 length units»
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Prove that : The points A (3 5— 1) s B (-4 56) and C (2 »—2) lie on the same circle
whose centre is M (— 1 » 2) » then find the circumference of the circle where T = 3.14
(Alex. 2015 — Cairo 2015 — El-Sharkia 2013) « 31 .4 length units »




image86.png
IfA(X5>3)sB (3 52)and C (5 51) and AB = BC , then find the value of X
(El-Beheira 2015 — Port Said 2014) « 50r 1 »
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£:f(X)=5X=7 sthen f (3) = ---reeveeeene
(a)2 )3 )8 d) 15
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If C (4 5 6) is the midpoint of AB where A (X »3) and B (6 »y) » then find the value of
eachof : Xandy (Cairo 2015) «2 59 »
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If C is the midpoint of AB » then find X » y in each of the following cases :




image89.png
A(X 53) s> B(6sy) s C4,56) (Luxor 2013) «2 39 »




image90.png
AB s a diameter in a circle M »if B (8 » 11) and M (5 »7) Find :
(1) The coordinates of A

(2) The perimeter of the circle. where (;t = 3.14) (Assiut 2014) « A (2 53) 5 31.4 length unit »




image91.png
If the points A (3 52) s B (4 5-3) »C (-1 »-2) and D (-2 » 3) are vertices of the
rhombus. Find :

(1) The coordinates of the point of intersection of the two diagonals.
(2) The area of the rhombus ABCD (Suez 2014) « (1 50) 5 24 square unit »




image92.png
IfA(-15-1)»B(253)and C (6 ,0)

Prove that : A ABC is a right-angled triangle » then find its area.
(Alexandria — Beni Suef 2011) « 12.5 square units »

a
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A(-254)sB(55-3)>C(751)and D (0 »8) (Souhag 2008)




image94.png
Prove that : The points A (3 »3) B (0 53) »C (0 50) and D (3 » 0) in the Cartesian

coordinates plane are vertices of a square and calculate the length of its diagonal

and its area. (Luxor 2009) « 312 length units > 9 square units»




image95.png
IfA(2>X)and B (3 5— 1) » AB =117 length units » then find : X
(El-Dakahlia 2013) « 3 or — 5 »




image96.png
Find the value of a in each of the following cases :
If the distance between the two points (a 5 7) 5 (— 2 »3) equals 5 length unit.
(Luxor 2013) « 1 or—5 »
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If: f(X)=5X-3sthen f (0) = --ovveene : .
@35 (b)2 )3 = (d-3




image97.png
If C (6 5 —4) is the midpoint of AB where A (5 5—3)
Find the coordinates of the point B (Beni Suef 2014 — El-Beheira 2013) « (7 5~ 5) »




image98.png
Find the value of each of a and b that satisfies that (2 a— 3 » a — b) is the midpoint of the
line segment whose terminals (7 5 —1) and (3 5 7) (EL-Fayoum 2012) <4 51 »




image99.png
ABCD is a parallelogram where A (3 52) 5B (4 s—5)and C (0 5»—3)

Find the coordinates of the intersection point of its diagonals » then find the coordinates
of the point D (El-Monofia 2015 — Giza 2015) « ( 1L, -—) (-154)»




image100.png
Prove that : The points A (6 50) s B (2 y—4) and C (- 4 » 2) are the verticgas of
a right-angled triangle at B » then find the coordinates of D that make the figure *
ABCD a rectangle. (Kafr El-Sheikh 2014 — Assiut 2011) « D (0 » 6) »
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If f(X) = 7x—%,thenf(.21_) ............... N

(@7 (b) 7 3 (@) %
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[ B]: Essay Problems : -
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If: f(X)=X2-X+3 >thenfind: f (=2) » £ (0) » f (1)




image14.png
If the functionf: {(0 ’4) 3(1 93) 9(2 72) 7(3 ’ 1)}
(1) Write each of domain and range of the function f
(2) Write the rule of the function f (Cairo 2013)




image15.png
If the set of the function f={(1 53) s(255) 53 +s7) 5459 >(S > 11}
(1) Write the domain and the range of the function f
(2) Write the rule of the function f (Red Sea 2015)
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Which of the following functions represents a polynomial function :
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;H_Qﬁf:f(x):X(X+%—2)




image18.png
If f is a function on X where X={3,4 5,6} and f (3)=3,-,f @) =5,f(5) =5
, f6)=5
(1) Represent f by an arrow diagram.

(2) Write the set of f and mention its range. (Ismailia 2015)




image19.png
Of:fo)=x3+x%+3
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If f(X)=2X-1 sthen prove that: f(2)-3 f (1) = zero (El-Gharbia 2011)
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O foo=x2+{x+8




image22.png
If £ (X)=2 X%~ 5X+2 >then prove that : f (2) = f (%) (Luxor 2014)




image23.png
If:X={1,3,4},Y={152535,4,5}andR is a relation from X to Y where
"aRb"means "a+b=6"forallaEX sbE&EY » Write R and represent it by an
arrow diagram. Is R a function ? and why ?




image24.png
If: X={1,2 »5} and R is a relation on X where aRb means "a + 2b = an odd
number" for each a €X and b € X. Write R and represent it by an arrow diagram.
Is R a function ?




image25.png
If:X={2,3,6},Y={3:45556,758} »R:X——>Y
Suchthat: R (X)=9-X
(1) Find the set of images of elements of the set X by the function R

(@) Is R alinear function ? "State reason".




image26.png
F:X={-1,051,2 ,3} »Y={05154,6,9} and R is a relation from X to Y
where "aRb" means "a =b" for each of a EX s b EY
Write R and represent it by a cartesian diagram.




image27.png
fX={1,253}5Y={153,6,9,12} and R is a relation from X to Y > where
"aR b" means "a = % b" foreacha&E X sbEY

Write R and show that R is a function » then write its range. (Assiut 2011)




image28.png
If the function f = {(0 54) s (1 53) »(252) 5(3 5 1)}
Write each of domain and range of the function f

B Write the rule of the function f (Cairo 2013)




image29.png
If:f:X—>Y>,X={-1,2,3},Y={2,3,5,7}
R={(-153)5(355 2,7}
Find : (1) The domain of the function f

(2) The codomain of the function f

(3) The range of the function f
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image3.png
The function f : f (X) = (X - 5)3 is a polynomial function of ---------- degree. (Qena 2011)
(a) zero (b) second (c) third (d) fourth
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image4.png
The function : f (X) =X (X2 —3)isof --eeieeenen degree.
@ 1" (b) 2 (c) 3" (d) 4"
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image5.png
The function f where f (X) =X*-2X3+5isa polynomial function of -.........

degree. (Cairo 2014)

(a) first (b) second (¢) third (d) fourth




image52.wmf
22

ad

c(ac)

+

+


oleObject26.bin

image53.wmf
b

d


oleObject27.bin

image54.wmf
d

b


oleObject28.bin

oleObject29.bin

oleObject30.bin

image55.png
Calculate the standard deviation for the next data: 16,32 ,5, 20, 27




image56.png
If5,6,7,8and9 are marks of pupil in the math. Exams for 5 months, find the
mean and the standard deviation.
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The function f where f (X)=2X-3X*+1isa polynominal function of ------- degree.
(El-Sharkia 2011)
(a) first (b) second (c) third (d) fourth
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The following frequency distribution shows the number of children of
some families in a new city :

‘ Number of children

e rmtes |+ | e [0 [ [ o |

Calculate the mean and the standard deviation of the number of children
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The following are frequency distribution for a number of defective
units found in 100 boxes of manufactured units :

wniercrsscvens| 0 [+ | 2 [ 5 [ 4 [ 5

nwerotvoes | 5 | 0 | w7 | e | m |

Find the standard deviation of the defective units.
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The following frequency distribution shows the ages of 10 students :

Age in years

| s |8 |9 [ w0 | 2 |Tom]
1 2 3 3 1 10

Calculate the standard deviation to ages in years

Number of families
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Calculate the mean and the standard deviation of the Following frequency
Number of children

Number of families





image61.png
If : tan (X + 10°) =13 where X is an acute angle find : X
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XYZ is aright-angled triangle at Y > where XY =5 cm. » XZ =13 cm.
Find the value of :
(M) tan X x tan Z @) sin® Z + sin®* X
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% ABC is a right-angled triangle at B 5sin C =0.8 »
then find the value of : sin A cos C + cos A sin C
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ABC is aright-angled triangle at B sif AB: AC=3:35 (Aswan 2013)
4 3 .4

Find : the main trigonometrical of Z A «gsr2 5%




image65.png
3 ABCD is an isosceles trapezium in which :
AD//BC sAD=4cm. sAB=5cm. s BC=12 cm.

Stan B cos C
Provethat: ———— =
el sin? C + cos?2 B
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In the opposite figure:

The triangle ABC is a right-angled at B
AB =3 cm.and BC=4 cm.

Find : (1) tan A (2)cos A

3cm.




